4 | OPERATORS * ; -

opetaloss ave lolens used 40 pesfom diffezent OPQZIC(U -
% |opevands awe the varslables 006 consktant involved in an openakion .
Eg:-at+b o L :

«| o_and b ase opezands wheze as icthe opeaatost .
* 8aS§d on the ﬂumwﬁl ofF ~Opeﬁandg 'U'@j,(}?f@d ‘FOU’H)Q_ ope ion
opesakoss ase classified into i3 . ' | <

1) Unaoy  operakoss e

* | unay opevakos opevates on a single opezand - - |
x| Unavy + (positive)-and uncsy (hegakive) aze con sfd@gd asungy openalons.-
# [This i used o zepoesent sign OF & nUMbe D T
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opezakov€

8 Binady

Binasy opetators opesate ontwo opezands o
F E9i- azithmetic opemjcoais,?efal;ionaﬂ opeaatoss etc. -

Y Tethavy opedatoss \ .

+ Tewnasy opezalos opegakes on 2 apesands -
£ - conditional opedakods (2:)
Based on+he opevations opewatoss ase classified inko -
- Agihmetic opeoatos i~ \
¢ +(add) , -subbaack) , x (malkiplicadion), //@ivislon), o/ (enodulus) -

* ;Moduﬂus OPe‘daJcO"B pe?SFO?Sms division OPQ?)'C(‘UOH and vetusns
semindea as outpuk « /(division) operatop pesferms divigion
opesakion and welusns quotient as oulput -



2-| Relaliond] opesatoss - |

Relational opezakoss ave used fos corvmalng'ﬂumb@ﬁ%'- |
* |Relalional opevakoss ase binasy opesaloss:

* |opesation using welationad opevatos Telusns eithes
loue o3 false value - .
¥ | Toue is vgﬁ@senl@,c{ bg .' Clncl {alse 16 ﬁ@pﬁ@senk@’ bzl 0-
* | Opesatoss < (lessthan) | s (goeatesthan), <=(lessthan Ob’@?,ulql-@,
>=(gsandey than 03-equal -L_.j , = (éQqaﬂ -(o) | z(no't_ QCL({CLQ _@ i
x | A==8 zetuans tsue only when both the vagiables 4’ and ‘@’
hoe same value or else the compazison welugns-false
value - ‘ "

x| a1=g weluzns 4oue when both the vaziables.:A'and '8 have

diffeaent values . when both ‘A’ and ‘8" have same value
tho e compaision vetusns false value.

3. | Logicall 0pesak0s :=
#| Logical opesatoss aze used 4o combine two oo MOTE@

compa.Bison - | | i . o
* | Ditfeent logicoﬂ opezqqéoz% includes -
NN A%, Y

1y Logicdl AND (%35 openator ,

¢ When both 4he condilions velurns 4sue value the vesult
will be taue foo all othe condition it geluans fglse value -
e ‘
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&) Logical or (| rg/a;)eaa}osﬂ |

* |This opesaloy veluans 4oue Vd(ué wb‘éni : -y
: ; any ofHh i
cithes A o7 B welusns a Haue valuye . d e condibion

x [This opesatos velusns false v
false value .
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alde Bhen boh A and B wefuans
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3) _l:ogicaﬂ NOT (1) s : o -

This s @ UNAY OpeBakiON -
) this opedatos neqate the mesult ofthe welaional. expression.
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| jpuT /OUTPUT "OPERATORS | |
C++ USES >> fos input opezation and {hlS _o'ee'mbﬁ
is called get foom 0T eoctBOCHON OpeTatoT .

atop is used 0B output opesodion and this opetaton
t 4o ov inseskon operats.

£ 240
ic also called as pu

AssiGiNMeEN T OPERATOR (__:) eand 4o

This opesator is used to stove ei{h@m a value to a vasiable
0o a value stoted with in a vasiable, 4o, anothen vasiable.

Eﬂ-‘- a-‘—‘b,Q.:S .
6.| ARLTHMETIC ASSIGINMENT OPERATORS

x| 4=, -=, /=, %= %= ame considesed as assignment
opesatoss -

* | A =a+10 can be wesHten as a+=10 0w a=a/i0 can be weitten
as a /=10 o a=a-o con be waten a3 a-=iwo.
¢ | Thic ic as aleo called as shoat hand foom .
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8. DECREMENT OPERATOB_(")
QC’UQMQ

o | This opeaton is used o d
b'd 5

% these ame posthix dJocserent and’ paeHx decmement.

« . In postFix decsement vasiable comes fiast fol lowing

4 poefix incsement.
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CONDITIONAL OPERATOR (7:) oo

This is tesnany opemio’d wooks oves 3 opesands.
condition will be checked fisst usingthe - opesales .
when 4he condirtion @etuans Houe -the statement befsso-tho -

will be executed: the condition wetusns false 4he
stokement aftes the colon will be execuled-

£9: 8 = M>507 P’ !

If 4he condition m>50 zeturns 4vue value the vaziable v’
will stosed with lhe chomacten <p’. If the conditionseluzns
ble ‘w’ will be Skob’e‘__’cl with the chowocten ¢ 7,

FQlSe -H-)Q VQ?SI'Q
Gize of OPERATOR

Thic opetakod can be used 1o check the numbesr of buytes

' ta type oo o
allocated & 8 vaTblo 07,6500 1upe o0 & consiant

size Of (.'n@/%‘éeubng 2'as wesulk as the int data {cg_pe |
allocakes 2 bytes of memoTy - L
Gize oF (2.4)cetupns 4 as ouk put as the fioat data type
will be allocated with 4 bytes of memaosy.
e:mn—. é—_‘qﬁﬂ C.lnafa' Qa; 17 S

: c ? yi 9 size of (@) | T |
#|The above code zeluans | as oulput as Hhe vasiable s declaned
in choo data type and chon data type allocates | byle of
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memoﬁid .




